
CATALOGUE
FASTENERS

© Richards-Wilcox Canada   |    Effective August 9, 2021 1:43 PM 15-1

FASTENERS
PART NUMBER DESCRIPTION

212-103 3/8"-16 x 1" Hex Head Bolt

212-105 3/8"-16 x 1-1/2" Hex Cap Screw - Plated

213-041 5/16"-18 x 3/4" Carriage Bolt - Plated

214-201 3/8"-16 Hex Nut - Plated

214-818 5/16"-18 Hex Flanged Nut

215-306 #14 x 7/8" Tek Screw T175

215-308R #6X3/8 Truss End Cap Screw

216-303 5/16"-18 x 3/4" Knurl Neck Bolt

216-304 3/8"-16 x 3/4" Knurl Neck Bolt

216-305 3/8"-16 x 1" Knurl Neck Bolt

224-064 5/16" X 1-5/8" Lag Screw - Plated

231-321 3/32" x 3/4" Cotter Pin - Plated

231-713 5/16" x 7/8" Clevis Pin

233-064 Rivets

234-301 3/8" Reg Lock Washer - Plated

234-091 Washer

436-0046 1/4" x 4" Square Key

436-0047 1/4" x 3-3/8" Square Key

436-0096 1/4" x 3/8" x 4” Key for Keyed Tube Shaft

436-0097 1/4" x 3/8" Bent Key for Keyed Tube Shaft

4-0021 Clevis/Cotter package

FASTENERS



 FASTENERS

© Richards-Wilcox Canada   |    Effective August 9, 2021 1:43 PM 15-2

PART # PACKAGE DESCRIPTION WEIGHT

4-0021
QTY PART # DESCRIPTION

2 231-321 3/32” x 3/4” Cotter Pin - Plated

2 231-713 5/16” x 1 1/8” Clevis Pin

0.06 lb / ea

4-0045 6218 WJ Track Bracket Pkg	

QTY PART # DESCRIPTION

18 224-064 5/16” X 1-5/8” Lag Screw - Plated

0.64 lb / ea

4-0046 6220 WJ Track Bracket Pkg	

QTY PART # DESCRIPTION

20 224-064 5/16” X 1-5/8” Lag Screw - Plated

0.71 lb / ea

4-0047 6224 WJ Track Bracket Pkg	

QTY PART # DESCRIPTION

24 224-064 5/16” X 1-5/8” Lag Screw - Plated

0.85 lb / ea

4-0048 6228 WJ Track Bracket Pkg	

QTY PART # DESCRIPTION

28 224-064 5/16” X 1-5/8” Lag Screw - Plated

0.99 lb / ea

4-0070 Head Plate Fastener Pkg for Solid Shaft		

QTY PART # DESCRIPTION

4 213-041 5/16”-18 x 3/4” Carriage Bolt - 
Plated

4 214-818 5/16”-18 Hex Flanged Nut

2 436-0046 1/4” x 4” Square Key

0.30 lb / ea

4-0071 Head Plate Fastener Pkg	

QTY PART # DESCRIPTION

4 213-041 5/16"-18 x 3/4" Carriage Bolt - 
Plated

4 214-818 5/16"-18 Hex Flanged Nut

4 216-305 3/8"-16 x 1" Knurl Neck Bolt

4 214-201 3/8"-16 Hex Nut - Plated

4 234-301 3/8" Reg Lock Washer - Plated

0.35 lb / ea

4-0096 Head Plate Fastener Pkg for Keyed Tube Shaft	

QTY PART # DESCRIPTION

4 213-041 5/16"-18 x 3/4" Carriage Bolt - 
Plated

4 214-818 5/16"-18 Hex Flanged Nut

2 436-0096 1/4" x 3/8” x 4” Key

0.30 lb / ea

4-0080 Spring Fastener Pkg for 1 Spring Per Centre Plate	

QTY PART # DESCRIPTION

2 212-103 3/8"-16 x 1" Hex Head Bolt

2 216-304 3/8"-16 x 3/4" Knurl Neck Bolt

4 214-201 3/8"-16 Hex Nut - Plated

4 234-301 3/8" Reg Lock Washer - Plated

2 234-091 Washers

3.50 lb / ea

FASTENERS PACKAGES

1 1/8” Clevis and Cotter Pin Package



 FASTENERS

© Richards-Wilcox Canada   |    Effective August 9, 2021 1:43 PM 15-3

PART # PACKAGE DESCRIPTION WEIGHT

4-0081 Spring Fastener Pkg for Solid Shaft	

QTY PART # DESCRIPTION

2 212-103 3/8"-16 x 1" Hex Head Bolt

2 216-304 3/8"-16 x 3/4" Knurl Neck Bolt

4 214-201 3/8"-16 Hex Nut - Plated

4 234-301 3/8" Reg Lock Washer - Plated

1 436-0047 1/4" x 3-3/8" Square Key

2 234-091 Washers

0.27 lb / ea

4-0082 Spring Fastener Pkg for 2 Springs Per Centre Plate	

QTY PART # DESCRIPTION

2 212-105 3/8"-16 x 1-1/2" Hex Cap Screw-
Plated

2 216-304 3/8"-16 x 3/4" Knurl Neck Bolt

4 214-201 3/8"-16 Hex Nut - Plated

4 234-301 3/8" Reg Lock Washer - Plated

0.24 lb / ea

4-0097 Spring Fastener Pkg for Keyed Tube Shaft	

QTY PART # DESCRIPTION

2 212-103 3/8"-16 x 1" Hex Head Bolt

2 216-304 3/8"-16 x 3/4" Knurl Neck Bolt

4 214-201 3/8"-16 Hex Nut - Plated

4 234-301 3/8" Reg Lock Washer - Plated

1 436-0097 1/4" x 3/8" Bent Key

2 234-091 Washers

0.27 lb / ea

4-0090 CBFN 6 Track Fastener Pkg	

QTY PART # DESCRIPTION

6 213-041 5/16"-18 x 3/4" Carriage Bolt - 
Plated

6 214-818 5/16"-18 Hex Flanged Nut

0.22 lb / ea

4-0091 CBFN 8 Track Fastener Pkg	

QTY PART # DESCRIPTION

8 213-041 5/16"-18 x 3/4" Carriage Bolt - 
Plated

8 214-818 5/16"-18 Hex Flanged Nut

0.28 lb / ea

FASTENERS PACKAGES

4-0080 Spring Fastener Pkg for 1 spring per centre plate

QTY PART # DESCRIPTION

2 212-103 3/8"-16 x 1" Hex Head Bolt

2 216-304 3/8"-16 x 3/4" Knurl Neck Bolt

4 214-201 3/8"-16 Hex Nut - Plated

4 234-301 3/8" Reg Lock Washer - Plated

3.50 lb / ea



 FASTENERS

© Richards-Wilcox Canada   |    Effective August 9, 2021 1:43 PM 15-4

PART # PACKAGE DESCRIPTION WEIGHT
4-0092 CBFN 10 Track Fastener Pkg	

QTY PART # DESCRIPTION

10 213-041 5/16"-18 x 3/4" Carriage Bolt 
- Plated

10 214-818 5/16"-18 Hex Flanged Nut

0.35 lb / ea

4-0093 CBFN 12 Track Fastener Pkg	

QTY PART # DESCRIPTION

12 213-041 5/16"-18 x 3/4" Carriage Bolt 
- Plated

12 214-818 5/16"-18 Hex Flanged Nut

0.42 lb / ea

4-0100 KNFN 6 Track Fastener Pkg	

QTY PART # DESCRIPTION

6 216-303 5/16"-18 x 3/4" Knurl Neck Bolt

6 214-818 5/16"-18 Hex Flanged Nut

0.22 lb / ea

4-0101 KNFN 8 Track Fastener Pkg	

QTY PART # DESCRIPTION

8 216-303 5/16"-18 x 3/4" Knurl Neck Bolt

8 214-818 5/16"-18 Hex Flanged Nut

0.24 lb / ea

4-0102 KNFN 10 Track Fastener Pkg	

QTY PART # DESCRIPTION

10 216-303 5/16"-18 x 3/4" Knurl Neck Bolt

10 214-818 5/16"-18 Hex Flanged Nut

0.30 lb / ea

4-0103 KNFN 12 Track Fastener Pkg	

QTY PART # DESCRIPTION

12 216-303 5/16"-18 x 3/4" Knurl Neck Bolt

12 214-818 5/16"-18 Hex Flanged Nut

0.36 lb / ea

8-9028 T175 Face Hardware Pkg

QTY PART # DESCRIPTION

28 215-306 #14 x 7/8" Tek Screw T175
0.31 lb / ea

8-9034 T175 Face Hardware Pkg

QTY PART # DESCRIPTION

34 215-306 #14 x 7/8" Tek Screw T175
0.37 lb / ea

8-9040 T175 Face Hardware Pkg

QTY PART # DESCRIPTION

40 215-306 #14 x 7/8" Tek Screw T175
0.44 lb / ea

8-9098 T175 Face Hardware Pkg

QTY PART # DESCRIPTION

98 215-306 #14 x 7/8" Tek Screw T175
1.05 lb / ea

FASTENERS PACKAGES




